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hen you add, you move forwards on the number line.

Test yourself. E Then check your answers.
1+ e = nl+/3f=
2|+ (3] = 12+ | 4| =
|l 8l+]58]= 13+ 2] =
i L+ 2= I+ + 5 =
sl e w = 5+ | 2=
g 6|+ 3= 16 +| 3| =
e 17+ 2| =
8+ 2= 18 +|0|=

9| + | 3 | = 19, + 1| =
ol = 20+ |0 =
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1] 12 13 I 15 16 17 8 19, 20
21 22| 23| 24| 25| 26| 27| 28| 29| 30
31 32| 33| 3+ 3| 36| 37| 38| 39| w0

|
] Now try with bigger numbers. Try both ways.

i+ |5]|= 5 + | 30| =
23|+ | 4 | = 29 + 4| =
34| + |5 | = 8| + 20| = {
26| + | 6| = 19| + 7| =
37|+ |2 = q + | 1| =





